
<latexit sha1_base64="s9nr38LPY8AXXPc4oZeLxJebIxw=">AAAB83icbVDLSgNBEOz1GeMr6tHLYBAiSNiVED0GvHjwECEv2CxhdjKbDJl9ONMrhJDf8OJBEa/+jDf/xkmyB00saCiquunu8hMpNNr2t7W2vrG5tZ3bye/u7R8cFo6OWzpOFeNNFstYdXyquRQRb6JAyTuJ4jT0JW/7o9uZ337iSos4auA44V5IB5EIBKNopO59yW308NG7xAvSKxTtsj0HWSVORoqQod4rfHX7MUtDHiGTVGvXsRP0JlShYJJP891U84SyER1w19CIhlx7k/nNU3JulD4JYmUqQjJXf09MaKj1OPRNZ0hxqJe9mfif56YY3HgTESUp8ogtFgWpJBiTWQCkLxRnKMeGUKaEuZWwIVWUoYkpb0Jwll9eJa2rslMtVx4qxVo1iyMHp3AGJXDgGmpwB3VoAoMEnuEV3qzUerHerY9F65qVzZzAH1ifP224kJw=</latexit>

L([Ttq], t)


